Analysis of Argument

6 points not included in the 170
score

30 minutes



Essay Layout

1. Introduction

. ldentifying 3 logical errors and suggesting 3
solutions in 3 body paragraphs

. Conclusion



Essay Layout

Introduction: The argument stating that “conclusion” is
not logically sound. The errors lying in the premise(s)
and conclusion are the following: 1------ , 2----——- and 3--

Body 1: One error/First, state error 1. Explain it with
respect to the context. Then, suggest a solution.

Body 2: Another error/second, state error 2. Explain it
with respect to the context and then suggest a
solution.

Body 3: Finally,/Third, state error 3. Explain it and suggest
a solution.

Conclusion: Thus, restate errors. Restate solutions




Al A

Logical Flaws

Vague terms

Weak analogy

Generalization

Confusing cause effect with time correlation

Assuming both courses of action are mutually
exclusive



Logical Flaws

6. Unreliable study
/. Unrepresentative statistics

8. Assuming that people/issues remain the same
over time.

9. Assuming there is only one factor leading to a
certain outcome.



